4.1
( Optimal Solution)
(Constant)
3 Intel ® Celeron
™ 1.00GHz 256 Mo

CPLEX 8.0

(Objective Function)

Minimize Total Distance Z= X S DikHjk
ik
Subject To:

XHik<1 Vi,
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43.1

ZHIKW i-C k k<0
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Hik= 1
Hik = 0
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0 5 101 102
103
10 5
101
4311 10
41 101
Node Mo Coordinate Capaciy Total Demands of Product No.  SD of Demands of Product No.
X Y Demand 1 2 3 1 2 3
1 n 5 128 16 8 0 8 2.3 24 2
2 5 4 148 17 9 0 8 18 0.8 0.5
3 58 86 97 20 10 1 9 2 24 39
4 29 19 117 26 13 3 10 13 13 2.3
5 0 A 87 20 10 1 9 0.3 3l 3.8
6 m % 149 15 7 0 8 12 2.1 3
7 187 127 28 14 4 10 49 0.8 4.2
8 76 6 81 16 8 0 8 0.3 47 0.1
9 8L % 120 17 9 0 8 2 3.3 11
10 n 3% 87 2 1 1 9 18 25 04
41 10
1 (71, 5) 128
16 1 8
2 0 3 8
1 23
2 24 3 2

41
4312

101 . 42 43



41 4.3
102 10 5
42 101
Number of Hubs Heuristic solution Heuristic Hubs

2 264.12 2,6

3 173.07 1,4,6

4 101.84 2,6,7,8

4.2
264.12
14,578 10
6
3 4
4.3
Number of Hub Distance Safety Stock
2 264.12 41,52
3 173.07 50.04
4 101.84 56.92
4.3
0.5:0.5
50.00%

0.4:.0.6 3

Ratio 0.5:0.5

Heuristic Allocations
1-2-4-5-7-8-10

3-6-9

1-2-8-10

4-5-7

3-6-9

2-5-10

3-6-9

4-7

1-8

4.2

101
Penalty
Ratio 0.4:0.6
63.74

57.98
60.00

79.67
59.97
50.00

57.98%
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Problem No.
1

4313

(Optimal Solution)

%Difference =

10

Hub No.
2

S 0 PO Ol B D PR D B0 D e B

(%Difference)
( HeunsﬂcSqutllon —OpltlmaISqutlon \ Y100%
OptimalSolution
Heuristic Sol. Optimal Sol.
264.12 264.12
173.07 173.07
101.84 101.84
404.65 404.65
25411 254,11
173.07 173.07
101.84 101.84
254.20 254.20
168.31 168.31
10257 10257
232.56 232.56
14858 148,58
111.22 111.22
85.54 85.54
246.65 246.65
181.90 181.90
129.64 129.64

%Average Difference

0.00

44

%Difference
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00

46



45
45
43.2
20 5
201
4321
4.6
Node Mo Coordinate
X
1 n 5
2 N7
3 M 5
4 29 59
5 0 47

10
oroblenn No Compgtatlonal Tlmel( )
Formulation ~ Heuristid
1 0.20 0.21
2 0.32 0.33
3 0.2 0.31
4 0.28 0.45
5 0.22 0.27
Average 0.246 0314
45
0.314
0.246
' 20
20 5 1
20
20J
. Demands of Product No.
Capacity Total Demand
1 2 3
93 28 4 13 il
120 2 8 13 1
85 24 0 13 1
112 3 1 13 1
143 25 1 13 il

47

201 202

013

SD of Demands of Product No.

1 2 3
48 2.5 2
2.1 08 01
2.5 11 08
49 16 0.8

11 39 2.5



C)?ordmate Capacity Total Demand
m 3 98 29
1 6 14 24
6 65 106 24
8 26 100 24
n 28 14 21
5 8 1A 24
VA VX 21
86 59 109 30
9 9 86 24
9 19 26
% 23 128 3
g 0 1@ 24
6 B 138 28
% A 8l 28
% 53 118 29
46
1 (71, 52)
28

2 13

2 25
4322

44 46

Demands of Product No.

1 2 3
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13

1S B U N S T N R < S = T T R — S JCR < S < S R S
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20

SD of Demands of Product No.

1
19
2
14
2.5
0.7
2.6
48
28
45
3.3
2.2
35
0.3
38
35

4.7

2
0.3
2.6
38

4
16
49

4
34
45
44
21
0.6
48

4
35

48

3
2
0.5
14
32
42
2.5
0.9
45
19
16
39
11
2.2
12
44



47 201
Number of Hubs Heuristic Solution Heuristic Hubs
4 374.09 2, 10, 17, 18
5 272.8 10, 11, 17, 16, 20
6 198.53 10, 11, 12, 16, 17, 20
4.7
374.09
18 3 45 20
16 ,19 10
17 7,11, 12 .15
4.7
48
Number of Hub Distance Safety stock
4 374.09 99 23
5 272.80 110.41
6 198.53 120.25

49

Heuristic Allocations
2-3-4-5-20
6-9-10-16-19
1-8-13-14-17
7-11-12-15-18
1-3-6-9-10
7-11-15-18
2-8-13-14-17
16-19
4-5-12-20
1-3-6-9-10
7-11-18
2-12-15

16-19
8-13-14-17
4-5-20

2,10, "
2 6 19,
1,8, 1314
18

201
Penalty
Ratio 0.5:0.5 Ratio 0.4:0.6
18.70 14.96

10.00 12.00
18.70 14.96



50

48
0.5:05 5
10.00%
0.4:0.6 5 12.00%
44 201
45 5 201

TIASRY

4.6 6 201



4.9

Problem No.
1

4323

20
Hub No.

[« > TN » BN~ L R S B e N S 5 B « > IS » BN~ N o RN S L I ~ N 6 B e 2 @ 2 B =

Heuristic Sol.
374.09
272.80
198.53
432.73
290.71
225.21
191.08
356.04
262.97
202.00
316.16
248.85
196.46
2k 2
431.16
325.53
257.97
203.11

% Average Difference

0.53

4.10

49

Optimal Sol.
374.09
272.80
198.53
432.73
290.71
225.21
191.08
352.38
262.97
202.00
316.16
244.78
196.46
570.35
431.16
325.53
257.97
203.11

%Difference
0.00
0.00
0.00
0.00
0.00
0.00
0.00
1.03
0.00
0.00
0.00
1.66
0.00
0.00
0.00
0.00
0.00
0.00
053

5l
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4.10
f 20
problem No Comp.utational Time. (.)
Formulation Heuristic 1
1 0.54 2.18
2 0.39 3.44
3 0.61 2.60
4 2.60 1.24
5 051 7.22
Average 0.930 4.536
4.10 1
4,536
0.930
433 30
30 5 01 302
30 3
30 5
30 1
433.1 30
411 301
Node Mo Coordinate Capaciy Totel Demand Demands of Product No.  SD of Demands of Product No.
X Y 1 2 3 1 2 3
1 83 224 26 4 12 10 4 1.2 24
2 53 82 297 23 3 1 9 0.2 4.6 2.1
3 58 59 206 3 7 13 il 0.3 13 34
4 29 9 239 30 6 13 il 2.8 13 0.2
5 3 9 236 38 10 15 13 16 3.6 3.2
6 n 23 248 30 6 13 il 2.1 33 4.5
7 170 215 38 10 15 13 2.6 39 17



53

Node No. Coordinate Capacity Total Demand Demands of Product No.  SD of Demands of Product No
X Y 1 2 3 1 2 3

8 7% 98 247 3 7 13 1 37 3.8 06
9 8L 24 225 34 8 14 12 2.3 15 21
10 7 5 262 22 2 il 9 1.6 41 39
il 5 il 254 3l 7 13 1 0.4 3.6 18
12 41 100 215 30 6 13 il 2 45 21
13 86 68 293 21 5 12 10 29 11 3.7
14 79 2 265 21 5 12 10 38 18 2.2
15 37 58 250 39 il 15 13 2.9 28 3.6
16 9% 10 239 30 6 13 il 3.3 18 2.5
17 87 10 210 35 9 14 12 4 1 0.9
18 6 80 218 34 8 14 12 21 2.9 14
19 9% 28 245 34 8 14 12 4 31 0.4
20 36 5 275 30 6 13 il 36 0.7 49
21 5 3 259 30 6 13 il 35 0.3 14
22 m 38 283 35 9 14 12 37 3.2 31
23 5 30 201 21 5 12 10 1 4.2 15
24 5 % 221 3l 7 13 il 39 3.2 43
25 47 98 207 30 6 13 il 03 21 16
26 30 40 210 34 8 14 12 12 0.9 4

21 62 28 233 3 7 13 il 48 2.5 09
28 65 16 212 34 8 14 12 4.1 49 15
29 26 16 200 35 9 14 12 11 3.8 04
30 28 65 253 35 9 14 g 9 19 2.5

411 30
1 (71, 83) 204
26 1 4
2 12 3 10



2 12 3
"411
4332
01
4.12 01
Number of Hubs Heuristic Solution Heuristic Hubs
4 611.84 25,921
5 489.67 9, 10, 24, 29, 30
6 421.62 1,12, 17, 27, 29, 30
7 367.42 1,7, 12, 15, 17, 27, 29

24

412 413
1

Heuristic Allocations
1-2-3-8-10-13-15-24-25
4-5-7-12-18-30
6-9-14-16-17-19-22
10-11-20-21-23-26-27-28-29
6-9-14-16-17-19-28
3-10-13-22-27
1-2-4-8-12-24-25
11-20-21-23-26-29
5-7-15-18-30
1-2-3-8-13-24
4-5-12-25
9-14-16-17-19
6-10-21-22-27-28
11-20-23-26-29
7-15-18-30
1-2-8-13-24

7-18

4-5-12-25
3-15-26-30
9-14-16-17-19
6-10-21-22-27-28
11-20-23-29

54
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Number of Hubs Heuristic Solution Heuristic Hubs Heuristic Allocations
8 329.92 47,10, 15, 17,24,27,29  4-5-12
7-18
3-10-13-22
15-26-30
9-14-16-17-19
1-2-8-24-25
6-21-27-28
11-20-23-29
4.12 4
611.84 2,99 2
1,3,8,10,13,15,24,25 2 4,112,18,
30 9 6,14,16,17,19,22
9 10,11,20,23,26,27,28,29 2
567 8 4.12
4.13 301
Number of Hub Distance Safety stock , Penaly ,
Ratio 0.5:0.5 Ratio 0.4:0.6
4 611.84 116.13
5 489.67 130.38 24.21 19.37
6 421.62 140.06 23.90 23.12
7 367.42 148.29 25.68 28.55
8 329.92 160.48 30.00 36.00
413
0505 6
23.90%

0.4.0.6 5 19.37%



4.14

Problem No.

4333

30

Hub No. Heuristic Sol.
611.84
489.67
421.62
367.42
329.92
906.55
642.67
531.99
467.38
413.18
367.42
329.92
585.16
465.89
358.57
313.75
278.78
456.79
387.27
334.67
288.60
260.51
669.14
534.99
424.00
338.20
308.14
% Average Difference

N oo o1 M W 00O 4 oo o1l M 4 OO Ol D W 0O N o O B W DD O N O o1 B>

Optimal Sol.
604.25
489.67
421.62
367.42
329.92
906.55
642.67
531.99
467.38
413.18
367.42
329.92
585.16
465.89
358.87
313.75
275.52
456.79
387.27
334.67
288.60
256.89
669.14
534.99
424.00
338.20
303.20

%Difference
1.26
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.0u
118
0.00
0.00
0.00
0.00
1.40
0.00
0.00
0.00
0.00
1.62
1.09

56



4.14
1
1.09
4.15
4.15
30
Computational Time ()
Problem No. _ o
Formulation Heuristic 1
1 6.16 33.78
2 2.18 42.04
3 A7 31.45
4 091 43.50
5 1.06 34.83
Average 2.296 37.120
4.15
37.120
2.296
434 40
40 5
405
101
434.1 40
401
4.34.2

401

401

46

48

57

40 2
40 3



4.16

Number of Hub

© oo ~N o o

417

Problem No.
1

401

21.64%
0.4:0.6

4343

Distance

646.28
558.91
482.93
430.25
38141

0.5:05

40
Hub No.

O©W OO N o Ol A W W 0O N4 o o

4.16

4.16

Safety Stock

162.81
176.80
187.68
199.77
209.58

Heuristic Sol.
646.28
558.91
482.93
430.25
38141
836.43
707.88
617.28
543.55
482.38
429.70
380.63

Ratio 0.5:0.5

23.26
21.64
23.06
25.00

Optimal Sol.
646.28
558.52
482.93
430.25
38141
336.43
707.88
617.28
543.55
482.38
429.70
380.63

101

Penalty

Ratio 0.4:0.6

1861
20.64
25.12
30.00

18.61%

Y%Difference
0.00
0.07
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00

58
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Problem No. Hub No. Heuristic Soi. Optimal Sol. %Difference
3 4 677.43 658.10 2.93
5 553.59 550.22 0.61
6 460.90 460.90 0.00
7 403.94 403.94 0.00
8 361.03 361.03 0.00
4 6 567.77 537.43 5.64
7 47531 470.86 0.94
8 407.65 407.65 0.00
5 4 75351 722.08 4.35
5 621.20 616.14 0.82
6 515.26 515.26 0.00
7 448.89 448.89 0.00
8 399.13 399.13 0.00
% Average Difference 2.59
417
2.59
418
4.18
40
oroblem No. Comp.utational Time‘( )
Formulation Heuristid
1 7.39 4112
2 4.76 65.54
3 23.15 23.30
4 86.95 1344
5 2143 34.43

Average 29.936 35.566



4.18
35.566
4,35 50
50J5
50 1
435.1
4.35.2
50 1 419
4.19
Number of Hub Distance
5 846.45
6 736.01
7 647.67
8 569.27
9 508.04
10 465.51
4.19
0.5:05
10.82%
0.4:0.6

4353

50

Safety stock

179.79
196.10
210.55
221.39
236.50
247.07

60

29.936
5 501 502
50 3
50
50 1 6l
50 1 83
50 1
Penalty
Ratio 0.5:0.5 Ratio 0.4:0.6
11.14 8.92
10.82 11.15
12.50 15.00
9
7 8.92%



4.20

50
Problem No. Hub No. Heuristic Sol. Optimal Sol. %Difference
1 5 846.45 846.45 0.00
6 736.01 735.04 0.13
7 647.67 647.67 0.00
8 569.27 569.00 0.05
9 508.04 508.04 0.00
10 465.51 464.44 0.23
2 3 1103.60 1103.60 0.00
4 929.90 929.90 0.00
5 789.12 789.12 0.00
6 699.05 699.05 0.00
7 632.17 631.50 011
8 567.48 563.39 0.73
9 508.87 508.04 0.16
10 465.27 464.44 0.18
3 5 920.56 832.77 10.54
6 704.65 669.31 5.28
7 595.73 580.61 2.60
8 509.45 507.78 0.32
9 448.49 448.49 0.00
4 7 599.60 590.87 147
8 521.20 524.33 054
9 477.10 469.16 1.69
10 421.72 418.75 2.14
R 3 113758 112554 1.06
4 879.82 879.82 0.00
5 749.48 749.48 0.00
6 672.20 672.20 0.00
7 611.31 611.31 0.00
8 559.35 558.26 0.19
9 511.47 505.75 0.01



Problem No. Hub No. Heuristic Sol. Optimal Sol. %Difference

10 469.85 458.03 2.58
% Average Difference 3.24
4.20
1
3.24
421
421
50
Problcishe Compu.tational Time (.36.0)
Formulation Heuristid
1 34.95 88.02
2 10.08 54.22
3 822.48 56.47
4 140.62 56.31
5 169.45 90.78
Average 235,516 69.160
421
69.160
235,516
436 100
100 2 100M
100 2
100 1
436.1 100
100 1 76

436.2



4.22

Number of Hub

© OO N o

12
13
14

4.23

Problem No.
1

100 1

33.06%
0.4:0.6

436.3

Distance

2122.03
1449.35
1288.61
1184.36
1088.25
1005.60
959.11
877.00
848.73

0.5:0.5

100
Hub No.
6
7
8
9
10
il
12

4.22

4.22

Safety Stock

282.70
305.49
324.52
342.90
360.81
379.75
392.29
409.03
423.35

Heuristic Sol.
212203
1449.35
1288.61
1184.36
1088.25
1005.60
959.11

100 1

Ratio 0.5:0.5

35.38
33.06
34.06
35.54
3781
42.22
44.52
50.00

Optimal Sol.
1737.35
1422.88
1284.93
1166.72
1065.28
987.18
924,87

18

100 1

Penalty

Ratio 0.4:0.6

28.31
29.30
32.96
37.00
41.68
48.06
52.76
60.00

28.31%

%Difference
22.14
1.86
0.29
151
2.16
187
3.70

63



Problem No.

1

424

44

Hub No.

13
14
il
12
13
14

Heuristic Sal.

877.00
848.73
1223.46
1051.78
944.63
886.39

% Average Difference

4.23
1
16.26
4.24
Problem No. :
Formulation
1 60443.47
2 3831.15
Average 32137.310
4.24
132.665

50

100

Optimal Sol.

866.52
817.27
1108.38
979.53
903.61
839.64

Computational Time ()

Heuristid
170.35
94.98

132.665

32137.310

%Difference
121
3.85
10.38
7.38
453
557
16.26

64



4.8
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